

$$\begin{aligned} \textcircled{1} \quad & (x+4)^2 = \\ & (x-1)^2 = \\ & (p-q)^2 = \\ & (2k+1)^2 = \\ & (p-4)^2 = \\ & (3+k)^2 = \\ & (x-2m)^2 = \\ & (2k+3l)^2 = \\ & (2k-2)^2 = \end{aligned}$$

$\textcircled{2}$

$$\begin{aligned} & x^2 + 2xy + y^2 = \\ & c^2 + 2cd + d^2 = \\ & x^2 + 2x + 1 = \\ & a^2 + 10a + 25 = \\ & p^2 + 2pq + q^2 = \\ & x^2 + 2x + 1 = \\ & x^2 - 6x + 9 = \\ & c^2 - 2cd + d^2 = \\ & n^2 - 20n + 100 = \\ & 16b^2 - 8b + 1 = \\ & p^2 - 14p + 49 = \end{aligned}$$

③

$$(w+1) \cdot (w-1)$$

$$(p+3) \cdot (p-3)$$

$$(2k+3) \cdot (2k-3)$$

$$(n-2) \cdot (n+2)$$

$$(n-1) \cdot (n+1)$$

$$(q+8p) \cdot (q-8p)$$

$$(x-y) \cdot (x+y)$$

$$(x+y) \cdot (x-y)$$

④

$$x^2 - y^2$$

$$4 - a^2$$

$$n^2 - 9$$

$$b^2 - 1$$

$$9m^2 - 64n^2$$

$$1 - 36u^2$$

$$p^2 - 49$$

$$100 - r^2$$

$$1 - x^2$$

$$c^2d^2 - 16$$

$$n^2 - u^2v^2$$

$$x^2 - 1$$

$$25a^2 - b^2$$